1 2 3 4 5 | 6 | | 8
SoM LISt REV. DESCRIPTION DRAWN CHECKED APPROVED
’ A |NEW RELEASE LJH 10/26/05 ~ LJC 10/26/05’
‘IEM ;&ZTT‘CNAXEOD Q;y — E?NES B | EHEm YCH 09/13/07’ ~ LIC 09/13/07’
LONG BOLT 2 | #4-40 C | BAIHIKIRL R YCH 07/18/08’ ~ LJC 07/18/08'
2 N1 2 A1) S5 K TR , 3
SHORT BOLT 2 #2-40 D | ¥ am kR YCH 05/20/10' ~ LJC 05/20/10
3 NUT 5 M3 E |ADD P/N CODE LJC 12/24/13
NOTES:
4 LONG SCREW 2 M3 1. Hardwares are all Nickel plated.
5 SMALL WASHER 2 2. PART NUMBER CODE:
DS1045 — 37 X X X X X — X
6 SHORT SCREW 2 M3 T Hood Materidls ®
7.1| METAL WASHER | 2 M3 B A ar ABS
7 |7.2| PLASTIC—1 WASHER 2 ABS
7.3| PLASTIC—2 WASHER 2 ABS xv:c;h:(;\_type
2 Pl
Bolt type
9.70 5. Sl
Packing type
? 1: Mix packing
13.7 2: Separation packing
10 Q: Full packing
| Incheso coa o)
1 L————Cover Color
— == : e
V: Ivory
- Position
| 37: 37pin
o0 {* Short BOLT
3 4
M3
- K
— _ $
T os NUT  t=2.3mm LONG SCREW
4.8
S\
13.70 o :w ; _ # é; l M
7 S 240 ‘
| d | T
B i -
180 /M3 180 & EH ‘ RSN ‘ 6
! T= a9 9 (& . L AT ‘
- @SP4 B0 Ul | 3 &
A)q/ ‘ ‘ ' \ 8.0 ‘ \
§
wapwwpw” )
2 SHORT SCREW
4—-40 UNC 8 .
4 3 \ GENERAL TOLERANCE| ANGLE TOLERANCE [PROJECTION | @—£7 [TITLE | D-SUB Plastic Hood 180°
H ! X.  +0.60 X. 5 UNITS mm 37 Positions
4.0 B X +0.38 X +3 SHEET SIZE A4 SERIES | DS1045 SERIES
56 o “ XX +0.25 XX +2°
13.5 S 3 » —
108 DRAWING TYPE |COSTOMER )1% ﬁﬂ EE % ﬁ IZE /A.\ EJ
4 SCALE 1:1 |SHEET [1 OF 1
)
1 2 3 4 | 5 6 I 7 I 8




